Sol. Prova - CAP. 89

U =1{1,2,3,4,5,6},
Uy = {1} Uy =1{2,3,4}, U ={5,6).

i. a =2, AASc no 1. e 2. estagios

Pls = (1,3)] = P[(Uy, Up)] P[(1,3)[(Uh, Up)] = (1/9).(1).(1/3) = 1/27.
b.
Pls = (3,3)] = P[(Uz, Us)| P[(3,3)|(U, Ua)] = (1/9).(1/3).(1/3) = 1/81.

ii. a =2 com PPT e AA no segundo estgio
a.

Pls = (1,3)] = P[(U, Up)] P[(1, 3)|(h, Up)] = (1/6).(3/6).1.(1/3) = 1/36.
b.

Pls = (3,3)] = P[(Uz, Us)] P[(3,3)|(Uh, Ua)] = (3/6).(3/6).(1/3).(1/3) = 1/36.

2.
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Cong. 1: uy =12, 1y, =12, 07 =0, B, = 1.
Cong. 2: ps = 10, 75 = 30, 03 = 26/3, By = 3.

Cong. 1: u3 =9, 3=18,03 =1, B3 =2.
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3. U ={1,2,3,4,5,6}.

Uy = {1}, Uy =1{2,3.4}, Us= {56}
TNA — (2,1) = s() = (Us, Uy).

dy(Y) = {(7,9,14),(12)}, com B, =3, B, = 1.
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ii. Faixas 1/1 —4/5—6.
TNA — (3,5) — s(U) = (2,3)
Uy — s =(2,3) = fig = (T+9)/2 =38.
Uy — s=(1,1) = 1o = (8+8)/2 =8.
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